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SEMNMONE | BmEs 137BN0O218 | el \ b # 51 | PFRTEHM AR O B 2 5
SMERH O T inICHET 5L SERHEA
ﬁ%‘g TREOBBOFELADOKRES rTaFOHBESELNDOKRES TREFOBBOEILADKRES TREDHESSLADKRES
&5 E 4 B | Fimh oD ADKES X 4 TimALDKE | & ADKES R 4 B2 | LEhSOEE ADKES X 4 Limmrootks | g ADKES
(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
7 100kN/mM%#EZ 5| 1.00 | 000 ~ 171 126.25 |3mEBZSH| — ~ — — — | 100kN/m%ZE#BZB | 1.00 | 1248 ~ 2604 126.25 |3mEBZ3 -~ — — —
Zzh st 1001171 ~ 950 100.00 | =ns | 000 ~ 950|271 14.48 zhnLst 1.00 |1 5.00 ~ 1248 100.00 | =N | 5.00 ~ 2604|271 14.48
2 100kN/m%Z#BZ25| 100|000 ~ 155| 12366 |3mEBZZ| — ~ — — — | 100kN/M%#Z25| 1.00 | 1269 ~ 2456| 12366 |3mEBZ5 -~ — — —
Zzh st 1.00 | 155 ~ 9.34 100.00 | #nS | 000 ~ 9.34| 2.39 12.80 Zzh st 1.00 | 5.00 ~ 1269 100.00 | =N | 5.00 ~ 2456 | 2.39 12.80
3 100kN/mM%Z#BZ5| 100|000 ~ 222 13450 |3mEBZZ| — ~ — — — | 100kN/mi%E# BZ 5| 1.00 | 11.75 ~ 3016 | 134.50 |3m%EREZD -~ — — —
Zzh st 100|222 ~ 1000 100.00| TnLS | 000 ~ 1000| 2.86 15.30 Zzh st 100|500 ~ 11.75| 100.00 | Zhs | 500 ~ 3016| 2.86 15.30
4 100kN/mM%Z#BZ5| 100|000 ~ 299 14748 |3mEBZZ| — ~ — — — | 100kN/M%#Z23 | 1.00 | 1057 ~ 2781 14748 |3mE#BZ5 -~ — — —
Zzh st 100|299 ~ 1077 100.00 | =hst | 000 ~ 1077] 2.99 16.00 Zzh st 100|500 ~ 1057 100.00| Zhs | 500 ~ 2781| 2.99 16.00
5 100kN/m#Z#8Z 5| 1.00| 000 ~ 343| 15522 |3m%EBZB| 000 ~ 122|358 19.14 | 100kN/m%#BZ 5| 1.00 | 1058 ~ 1073 155.22 |3m%EEBZ 5| 3000 ~ 40.73 | 3.58 19.14
Zzh st 100|343 ~ 1122| 100.00 | ThUs | 122 ~ 1122| 3.00 16.05 Zzh st 100|500 ~ 1058 100.00| Zhs | 500 ~ 3000 3.00 16.05
P 100kN/mM%Z#BZ5| 1.00| 000 ~ 358 157.87 |3mZE#BZ5| 000 ~ 129|362 19.36 | 100kN/m##BZ5| 1.00 | 1054 ~ 4390 157.87 |3mZE#BZB| 2500 ~ 4390 | 3.62 19.36
Zzh st 100358 ~ 1137 100.00 | Thst | 1.29 ~ 1137| 3.00 16.05 Zzh st 100|500 ~ 1054 100.00| Zhs | 500 ~ 2500 3.00 16.05
7 100kN/mM%Z#BZ5| 1.00| 000 ~ 382 16222 |3mZEBz25| 000 ~ 153|379 20.27 | 100kN/m%#8z25%| 1.00 | 1064 ~ 4300| 16222 |3mE#BZB| 2500 ~ 4300| 3.79 20.27
Zzh st 1001382 ~ 161 100.00 | Thst | 1.53 ~ 1161 3.00 16.05 Zzh st 100|500 ~ 1064 100.00| Zhs | 500 ~ 2500 3.00 16.05
g 100kN/m#Z#8Z 5| 1.00| 000 ~ 335| 153.72 |3m%EkBZB| 000 ~ 031|316 16.92 | 100kN/m##BZ5| 1.00 | 1053 ~ 3207 153.72 |3mZE#BZB| 2500 ~ 3207| 3.16 16.92
Zzh st 100|335 ~ 1113 100.00 | ThLst | 031 ~ 1113] 3.00 16.05 Zzh st 100|500 ~ 1053 100.00| Zhs | 500 ~ 2500 3.00 16.05
P 100kN/MZ#B % % — -~ = —|3mZz#BZB — ~ — — — | 100kN/mM%E#BZ % - - ~ — —|3mZE#BZ D -~ - - -
Zzh st 1.00 ) 000 ~ 466 58.11 | #nst | 000 ~ 466|222 11.90 Zzh st 1.00 | 5.00 ~ 7.20 5811 | =ns | 600 ~ 720|222 11.90
10 100kN/MZ#B% % — -~ = —|3mZz#BZB — ~ — — — | 100kN/mM%E#BZ % - - ~ — —|3mZE#BZ D -~ - - -
Zzh st 1.001 000 ~ 629 79.04 | ThLS | 000 ~ 629|193 10.35 Zzh st 1.00 | 5.00 ~ 790 79.04 | ThLUS |6.00 ~ 790 1.93 10.35
11 100kN/MZ#B % % — -~ = —|3mZz#BZB — ~ — — — | 100kN/mM%E#BZ % - - ~ — —|3mZE#BZ D -~ - - -
Zzh st 1.001 000 ~ 628 78.94 | TnLS | 000 ~ 628|197 10.564 Zzh st 1.00 | 5.00 ~ 812 7894 | TnLS |6.00 ~ 812197 10.564
12 100kN/MZ#B% % — -~ = —|3mZz#BZB — ~ — — — | 100kN/mM%E#B %% - - ~ — —|3mZE#BZ D -~ - - -
Zzh st 1.00 1000 ~ 468 58.40 | =nst | 000 ~ 000 1.63 871 zhnLst 1.00 | 5.00 ~ 5.00 5840 | =nLs | 500 ~ 500 1.63 871
100kN/mM%Z#B% % ~ ImEHBZD ~ 100kN/M%Z#B% % ~ ImEEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh sk ~
100kN/MZ#B % % ~ ImEHBZD ~ 100kN/M%Z#B% % ~ ImEREZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh st ~
100kN/mMZ#8 % % ~ ImEHBZ D ~ 100kN/mMZ#8 % % ~ ImEEZD ~
Zh s ~ ZhLst ~ Zh s ~ ZhLst ~
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